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QUESTION NO: 1

To travel between spokes, non-transitive traffic uses ________ to allow Ipv4 and IPv6 traffic to reach a spoke network

A. a VTI

B. the Northbound hub 

C. the Southbound hub 

D. Peering 

ANSWER: D 

QUESTION NO: 2

What is Operational Excellence? 

A. The ability of a Workload to function correctly and consistently in all expected 

B. In terms of the cloud, security is about architecting every workload to prevent 

C. The ability to use cloud resources efficiently for meeting system requirements, and maintaining that efficiency as demand 
changes and technologies evolve 

D. The ability to support development and run workloads effectively 

ANSWER: D 

QUESTION NO: 3

How is CloudGuard for Azure licensed in BYOL (Bring your own license) mode?

A. Per usage

B. Per Socket

C. Per vCore

D. Per Gateway

ANSWER: C 
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QUESTION NO: 4

What is vertical scaling? 

A. Tunes the environment up and down according to the resource capacity needs 

B. Tunes the environment by automatically adding or removing resource to the SDN 

C. Tunes the environment by manually adding or removing resource to an SDDC 

D. Scaling method that does not require a system shutdown to add or remove resources. 

ANSWER: B 

QUESTION NO: 5

Which command will enable the CloudGuard Controller services on the Security Management Server

A. set cgcontroller state on

B. controller on

C. set cgcontroller on

D. cloudguard on

ANSWER: D 

QUESTION NO: 6

Which is not a deployment method for CloudGuard solutions using 

A. Terraform 

B. Shell 

C. CLI 

D. CPS Portal

ANSWER: A 

QUESTION NO: 7

Logging Implied rules, enabling Hit Count and defining advanced VPN functions are all settings that are applied as

A. Inline Layer

B. Global Properties
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C. Policy Settings

D. Gateway Properties

ANSWER: B 

QUESTION NO: 8

A utility that allows integration between SMS, the CloudGuard Network Solution, and CSPs, allowing the SMS to monitor and 
control scaling solutions in their associated cloud environments is called 

A. CloudGuard Management Extension (CME) 

B. CloudGuard Controller and Enforcer (CCE) 

C. CloudGuard Scanner and Enforcer (CSE) 

D. CloudGuard Controller (CC)

ANSWER: A 

QUESTION NO: 9

What are two basic rules Check Point recommends for building an effective policy?

A. Cleanup and Stealth Rule

B. VPN and Admin Rules

C. Implicit and Explicit Rules

D. Access and Identity Rules

ANSWER: A 

QUESTION NO: 10

Which security principles are indicative of the CloudGuard Secure Public Cloud Blueprint architecture?

A. Security with Advanced Threat Prevention; Network Division; Agility, Automation, Efficiency, and Elasticity; with Cloud 
Borders

B. Security with Advanced Threat Prevention Network Unification Agility Automation, Efficiency, and Elasticity; Borderless

C. Security with Advanced Threat Prevention: Network Segmentation: Agility, Automation Efficiency, and Elasticity; 
Borderless

D. Security with Advanced Threat Protocol; Network Distribution; Agility, Automation, Efficiency, and Cloud Rigidity 
Borderless
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ANSWER: A 
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